








[H+]  = (100-90)x 1 =
190

5.26 x 1O-2

pH =’ 1.3

dtld&?M  NaOH  98 Bel.7lM.

[H+]  = (100-98)x  1
198

=  1 .01  x10-2

pH = 2.0

6ks6b?Pl  NaOH  99 t?U.“upI.

[H+]  = (100-99)x1
199

= 5.03 x 10‘3

pH = 2.3

dt?6~N  NaOH  99.9 BU.YoI.

IH’]  = (100-99.9)x1
199.9

= 5.00x  lOA

276 CH 234



dt7lm’PI  NaOH  100.1 BU.41U.

/OH‘, = (100.1-100)x 1 =
200.1

5.00x10~

pOH = 3.3

pH = 1 4 - 3 . 3  =  1 0 . 7

dfllm’pl  NaOH  1 0 1  &lU.YJJ.

Cm’ of NaOH
added
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9 8
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100.1
loo.2
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101
1 0 2
1 1 0
1 2 5
1 5 0
200

M solution O.IM solution 0.01 M solution
PH PH PH

0.0 1 . 0
0 .5 1 .5
0 .8 1.8
1.3 2.3
2 . 0 3 . 0
2.3 3.3
2 . 6 3 . 6
3 . 0 4 . 0
3 . 3 4 . 3
7 . 0 7 . 0

10.7 9 . 7
11.0. 10.0
11.4 10.4
Il.7 10.7
1 2 . 0 11.0
12.7 11.7
13.0 12.0
13.3 12.3
13.5 12.5

2 . 0
25
2 .x
3.3
4 . 0
4 3
4 . 6
5.0
5.3
7 . 0
87
9 0
9 . 4
97

10.0
107
11.0
II 3
11.5
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Phenol red
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wdj”““$“$2  TIr$  H&O2  =
0.1 x 100

300
= 0.033 M

K,  “uO9  H,CO1  %I =  4 . 3 x  10.’

:. 4.3 x 10-7  = ir-rCO;j[H’i

1 H&O,]

LWXTdl [H’] = [HCO;j

jH+]’ = 4.3~1O-~xO.O33

/H+]  = 1.19~10~

pH  = 3.92

CH 234 2 8 7
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M=L
[InI IOH-1

. . . . . . . . . . (9.26)

pH r a n g e  = 10K. -log e 84
1,

- l o g &  $
1,

CH 234 293
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